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1 pUEsS VS 2 [TMETHs
H= A=
L T T L
T % R T 5 EE
& - 7 - R & - DALl T
x| R | ER | w28 | me| ER | 2 |8 me| 2 | B
1 NTS x 4S +1 -450 [ri] 4S +1 -450
2 it 1t 4S +1 650 1t 5S = 650
3 b Y] it INT -1 -50 it INT -2 -100 2
4 E=] [£3] 5C = 600 [£3] 5C = 600
5 it 1t 2HXx -2 -500 [£3] INT -1 -100 9
6 panyiic] [£3] 4H -2 -100 x 3S -3 300 9
7 L] [£3] 7C -1 -100 [£3] 6C = 1370 16
8 TS x 4S -4 200 x 3D -1 50 4
9 b2 Y] [ri] 2H = -110 [£3] INT -2 -100
10 | N/ x 4S = -620 x 4S = -620
11 | XN x INT = -90 [£3] 2NT -3 -150 2
12 | Bt [ri] 3NT = -400 x ANT +1 -460 2
DATUM#Sit i
UL eIt &% | o0 | =
SKEEE/AEIE  -28 =B/ SEL 9 Aait 10 34
BE/TFE -9 FReC B/ AR 28 V.P. 3.63 | 16.37
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H= A=
EER Y S EER
T - R ITpE—— % HEE
7 | OB, 7 B T — 7 R
x| R | ER | w28 | me| ER | 2 |8 me| 2 | B
1 NTS x 4S +1 -450 x 4S +1 -450
2 it x 5Cx -1 100 1t 6SX = 1660 17
3 b Y] it INT -2 -100 it INT -1 -50 2
4 E=] [£3] 5C = 600 [£3] 3NT +2 660 2
5 it [£3] INT -2 -200 [ri] INT = -90 3
6 panyiie] [£3] 4H -1 -50 [£3] 3H = 140 5
7 e [£3] 6C = 1370 [£3] 7D -1 -100 16
8 TS [ri] 4C -1 50 LL PAS 2
9 b Y] [£3] INT = 90 [£3] INT -1 -50 4
10 | N/ x 4S +1 -650 x 4S +1 -650
11 | XN [£3] 2H = 110 it 2S = 110
12 | Bt x 3NT = -400 x 3NT +1 -430 1
DATUM#Sit i
Ly p Sk iFYIEE Y. 3+ 23 | 29
K ASEEX, -2 EE/AE= 2 Ait 23 | 29
BT /R = -2 EfEE/XIS= 2 V.P. 7.99 | 12.01
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5 BRRAZ1E VS 6 I M%Ent
H= A=
B e e B
T Er % - kIR 1t - e % - I
o aEY 7 - i e —— 7 - e
x| R | ER | w28 | me| ER | 2 |8 me| 2 | B
1 NTS x 3S +2 -200 x 4S +1 -450 6
2 it 1t 5S = 650 [ri] 6Cx -3 500 4
3 b Y] it INT -2 -100 it INT -2 -100
4 PWE=] [£3] 4C +1 150 [£3] 3NT +3 690 11
5 |Ektl & AINT | +1 | -120 x 2S -1 50 5
6 panyiie] [£3] 4H -1 -50 x 2S -2 200 6
7 e it 3NT +3 690 it 4H +1 650 1
8 TS 1t 3H = 140 x 2NT -2 100 1
o by [£3] INT -1 -50 [ri] 1H -1 100 4
10 | N/ x 4S = -620 x 4S = -620
11 | XN [£3] 2C = 90 it 2S +1 140 2
12 | Bt x 3NT +1 -430 [ri] 3NT = -400 1
DATUM#Sit i
G A I 4ERE Y. 3+ 12 | 29
| H/EE -6 EIfEENVESSIES 11 Ait 12 29
AIEKR/MMAEE -11 ok BR/XURR 6 V.P. 5.07 | 14.93
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7 EMER VS 8 ¥kigHhiB
H= A=
BNER T — T — SENER
1t - {Bf55 . 2= - 5 BEs
5 - IR 7 - B =5 B 7 PR
x| R | ER | w28 | me| ER | 2 |8 me| 2 | B
1 NTS x 4S +1 -450 x 4S = -420 1
2 it [£3] 6Dx -3 -800 1t 5S = 650 16
3 b2 Y] it INT -2 -100 it INT -2 -100
4 WE=] [£3] 3NT +2 660 [£3] 5C = 600 2
5 it [£3] INTX -1 -200 x INT +1 -120 2
6 panyiic] x 4Sx -3 800 1t 3D -1 -50 13
7 L] [£3] 7D = 2140 it 3NT +3 690 16
8 TS [£3] 2H +1 140 x 3NT -2 100 1
9 by [£3] INT +1 120 [ri] 1H = -80 5
10 | N/ x 4S = -620 x 4S = -620
11 | XN it 2S +1 140 it 2S +1 140
12 | Bt x 3NT = -400 x 3NT +1 -430 1
DATUM#Sit i
E=MER Exigdig Y. 5+ 38 | 19
(BIERR/NATER 21 S -3 ait 38 | 19
B R/FEE 3 22X/(AT 21 V.P. 15.37 | 4.63
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o RIEEN VS 10 I'&FE
H= A=
B EEA EEA B
1o R 7 mE o 7 - o
& HEY 7 IR % - oI 7 - e
x| R | ER | w28 | me| ER | 2 |8 me| 2 | B
1 NTS [ri] 4S +1 -450 x 2S +3 -200 6
2 it 1t 5S = 650 [ri] 6Cx -3 500 4
3 b Y] it INT -2 -100 it INT -2 -100
4 WE=] [£3] 3NT +3 690 [£3] 5C = 600 3
5 it [£3] INTX -2 -500 [£3] INT -1 -100 9
6 panyiie] x 2S -1 100 [£3] 4H -1 -50 4
7 | XW&/|l it 3NT | +3 690 [£3] 3NT | +3 690
8 o v LL PAS LL PAS
9 b Y] [£3] INT -1 -50 1t 2D -1 -50
10 | N/ x 4S = -620 x 4S = -620
11 | XN it INT +1 120 [£3] 2C = 90 1
12 | Bt [ri] 3NT +2 -460 [ri] 3NT +1 -430 1
DATUM#Sit i
E3fiTHba) I'&Fa Y, &+ 12 | 16
FRIER/H{S 7 -9 %/ CIEE -4 ait 12 16
SKFREEIERE 4 EEE/ARLAE 9 V.P. 8.62 | 11.38




